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002 |BEfREKZE W1—01 5 5 0 5 5 20 1 17
221 |:RiBXRZE w1—02| 3 3 1 5 5 17 1 12
006 [AAKZE W1—03| 4 4 0 5 5 18 1 12
008 &K= W1—04| 5 5 1 5 4 20 1 13
092 |EEAKZF W1—05| 3 3 0 1 1 8 1 4
067 |E 2 KE w1—06| 3 3 0 3 3 12 1 6
080 | KR XILKZF W1—07 3 3 0 5 5 16 1 10
003 [;ZEIKZE wi1—08| 0 0 0 5 5 10 0 7
021 |HRAFXRZE W1—09| 2 2 0 5 5 14 0 7
088 [FRARE X KF wi—10| 3 3 0 5 5 16 1 8
125 [RBJII K= W1—11 3 3 0 0 0 6 1 3
149 [KE)IZFKRZE W1—12 4 4 0 5 5 18 1 11
039 |EIEHKE W1—13| 3 3 0 5 5 16 1 9
157 |SRILfEHL K= Wi—14| 3 3 0 4 4 14 1 7
105 | AR FHRBEKRE W1—15| 0 0 0 5 5 10 0 11
ZFI1E 158 44 44 2 63 62 215 12 137
036 |ILAREEKF W2—01 1 1 0 2 2 6 0 3
178 [BINERKFE w2—-02| 2 2 0 0 0 4 0 2
074 |FRILFfRKRZE w2—03| 0 0 0 3 3 6 0 3
040 |t K= W2—-04| 4 4 0 1 1 10 1 6
027 [{EM K= W2—05 1 1 0 4 4 10 0 7
103 | RRRFHRBEKRE W2—06 1 1 0 3 3 8 1 5
013 [FEERKE w2—-07| 4 4 0 4 4 16 1 8
020 |FTiRKZE w2—-08| o0 0 0 1 1 2 0 1
010 |3LF K= W2—09 1 1 0 4 4 10 1 7
064 | R KZF W2—10( 0 0 0 3 3 6 0 3
275 [ AFEHKE w2—11 0 0 0 1 1 2 0 1
005 |BART K W2—12 0 0 0 4 4 8 0 5
038 [T R K w2—-13| 3 3 0 3 3 12 1 3
047 |[EXZE KF W2—14| 0 1 0 1 1 3 0 2
022 |dL:BEHE KFE w2—-15| 0 0 0 2 1 3 0 2
057 [FILZRKE w2—16| 0 0 0 4 4 8 0 5
019 |IRIEIE K w2—17| 0 0 0 1 1 2 0 1
054 |ELiEXFE w2—18| 0 0 0 2 4 6 0 4
016 | AF KZE w2—19| o0 0 0 2 2 4 0 2
172 | EHFRKRF w2—20| 0 0 0 4 3 7 0 4
062 | KBR K= wW2—21 1 1 0 1 1 4 0 2
176 |FLIRF BT K F w2—22| o0 0 1 0 0 1 0 1
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262 |z BARFKEF w2—23| 0 0 0 2 2 4 0 2
001 |dLiBE K w2—24| 3 3 0 0 0 6 1 3
014 [BREBKE w2—25| 0 0 0 2 2 4 0 2
237 |[dLEAKRZE w2—26| 0 0 0 1 1 2 0 1
056 | FLIR K= w2—-27( o0 0 1 0 0 1 0 1
237 [ R K= w2—28| 0 0 1 0 0 1 0 1
12 [WRNIKZ w2—29| o0 0 0 2 2 4 0 2
028 |—1EKZE wW2—-30| 1 0 0 4 3 8 0 5
187 | KR E KZ W2 —31 1 1 0 1 1 4 0 2
163 [[#E K W2—-32 1 1 0 0 0 2 0 1
282 |BREAKZE W2—-33| 0 0 0 1 1 2 0 1
153 [XHKE W2—-34| 0 0 0 1 1 2 0 1
255 |[UH TRBERAR—YKE |W2—35]| 0 0 0 1 1 2 0 1
279 |ZRRBIKZE w2—-36| 0 0 0 1 0 1 0 1
083 |f&affl KZF w2—-37| 0 0 0 2 2 4 0 2
009 [ERIRKZF W2—38 1 3 0 1 1 6 1 3
017 |FREAXZE W2—39| 0 3 0 0 0 3 1 3
030 | R K2 Ww2—40| 0 0 0 1 1 2 0 1
050 [& K= W2—41 1 1 0 0 0 2 0 1
M3 [HFEKE w2—42| 0 0 0 1 1 2 0 1
130 [FHRKE W2—43 0 0 0 1 1 2 0 1
138 [ILBLFE R K EFE W2—44( o0 0 0 1 1 2 0 1
160 [ HEKZE w2—45| 0 0 0 1 1 2 0 1
267 |EFEBHKE w2—46| 0 0 0 1 1 2 0 1
TF2HBIR461 26 31 3 75 73 208 8 116
TFSMREEI6 18 70 75 5 138 | 135 423 20 253




